Value Added Tax

EXERCISE- 41

50 lution -0l
(D Armount of tod collected by ranufackurer
p = lo/e ot |q,000

= 1o +\g, 000

\oo
- ps. 00U
since the tvader B eaxnc a profit of T 350, the
Value added by the dealey B = T Fs50,
. Amnount of VAT paid by B = 10% 0of T 3s50.
| =3 75
As trvader ¢ eawyns A pwolitof T goo . He
Value added by the dealer € = 3 qpo
. Amoant Of VAT Pald by ¢ = 107 of oo

= Z90.

. The omount of fan (Undes VATY ye celved lhy
the state 6Govermment - 3 \g004+3%5+ Iq0
T X 1,‘:’.'6;
(O e value g e Machine Paid by the cancyymev

= 2 13w00% T 950 + T Qo0
= T UWE50

Tax Pasd by .o CONZUMEY for T.v = lov. of 19 {56

= A 965,

CThe cnpunk Paxd by theCangume v = QlEIJG'50+
<2 1,965

= JF 21,615.



Sowwhion-02 .

0y Amount 0fF toh collecked by moanufacturer
= B aof 15,000

= & \,200.

Prapunt aof far seceived by the Jovernmenk Fyon

Llole. Saley = @ . pf profit Birnce whole -
—Saler €o+sms;
= @' of l,2o00 o poofit of

-396. = L2 e

) The vouie of Bhe macline Pold Ly bLe

C v —
OnEuUMeT = I 15,000 t2 1.200+ 71,800
= I18,00c¢

Tar pPaid by the cangumey = 87 of T 12,000

‘—“I(i % @ c0a)

oo

| =3 \uho.
S The \
Amount paid Ly the ComMSumey ey

Machine = 2 \R, 0o +3 1, Lgn

= T\, 440
solution- oz

hroount Poud by the moryfacturer for Raw
ake s al =3 40,000

Soles tai Ameount on Ragw malewial - 47 of Yo, 000

=2 1,600
2el\ing Proce of Ready Stok = F 1,000
Sales tad C?"“‘L_El’:facbd stosk- 1.5/ of 1% cou

- Z §%¥s50.



VAT Paid by the mManufactuvev

= Sales tax O~ Readystock - Salec daron

Raw M akerial
= E. 5 %50 _Eﬁ,EﬁDG

= & L,250.

Solukion-o0y.

As Wholesaler sals camera bo Shopreepey at 2ov
Alscount of rmovsked Price,

The Sselling paice of camevyaby Whole gqle,

= 2 1,600 - X 2o
LoD

Z\,600- T 220

=\, 600

= 3 \,280
-8t Price o camera Ly Ghop kEEPETz ¥ 2ee
VAT Paid !

0 Lelling pPrice 4F Camera Ly Shop keepe, -
=4 ConsSymey _

2| 6o
610t 3y ,¢ o0
=Z Q6.

The Price ot whicl, Cameracan be bg:,ﬁjq{—

21,600+ Fqg
e

21, 696.

Protit for the shopreepe: STCOSE Price t S eliing

Pwice |
S.p~cC.p

s-

—_—

_ I |,6oo- =F 1,280
= L 338,
VAT Pald by the Shopkeeper

61 of T g2p -
T 1920 Ps.
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SolutiOn-05.

(1) Prvinted Pvice of an Avticle T 60,000,

AS whole aaler allows a discoynt of 26y L

ShoPp keeper, cost price oFf the Axticie
=Z60,000- 20/, ot T 8o, 000

= T 6,000 - 2o
lon X 60, oo

= I3 60.000-F12,000

— 5%3,—1‘:13:3

VAT  Pald by e Shop Feeper= gv. b F Y42 oa,

-'I_B-D XYRoon

— Exqﬂa'c:-
=¥ 220
Cast +o Hae shq&heeper nClugiye o5 taw
V4,000 4T geo
) - S0, 00.
iy ProfTt

of onAv ticle o ghopheeper

= R 60,000 - F 48,000

L o Shopkeepey Sells an Avkicle at Mogrey
Perice) 7

VAT Podd by e Sha P keeper o ve q overnme
= @ 12, 00046
Qo

-

= J790.



(Y ShoPkeeferSells an Article ot T 60,000

VAT Paid by conSumey = 67 of 360,000

= &

‘{E{j “ﬁED;GQC}

—

= SWCE.'“-::D
= J 2 600,

pe cogt to consumer  inclugiye af tai

= R o, 000+ F 2,600

= T 6% ,600.
Soluktion—-o6:-

Listed Pyice o4 an TV 28y 000

Shop wReepPeid boufght a TV at di scount af 20 of Listed

Price
coskt Pvice 0f a TUz 24,000 -30'. pf Lickted Price

= &y,000- 30

+3aY poo
6o

= dYyooo-7,300

= lh, 500

(vl Selling Pvice pf A TV = <Y 0oo - 1o, discound +ieama

= &Y ooo - 19
' v a0
Tals) “.0

24,000 - &,y0o0

Ll

L]

23 2\, 600 .

cellira Price of a1y '[n{l_ud:luﬁ Tad = 2l.600 +10v. 04

4| oo

= 2,600+ 10,
- r T 21,600

= 9\,600 + 2160
- 33‘;150'



1ov. of Psofit.

(Y VAT Paid by the shopkeeper -
profit Fov Si'naplﬂ"ell:'{'l by Selling TV = S,E“;HU pPrice -

cast price

91,600~ L6, 800

f

UNT b0 be Paid by the Shop keeper = ok 0F T U Roo
= 12 44,800
f=l=
= RGO
solubion-o%.
L,i-;.’céd pvice of an Axkide =2 ;500 .
Pake of VAT= la .

VAT Pard b4y chop ¥eeper Yo theé Sovernment = T 34

profit = Jag,

= 2. of
i 12 4 proht _
oo -~ 26
= Proft = oo :

V2

= F’TC)FF"LE 200,

Profk 4o Avticde Ay Si“\BPFE"—F"H = gelling price-
coest Prite

f_'.ﬂ'EL r_r;'ul:#! = .SE.““qu 'PT;':‘E - P-;.t;._F;l- -

= a4 |,500- 2 300

= 2 Laooo.

shop keepes Puvchased cost of on pAvhicle —casd Pric
. . = et
r@-var

=&l
i 2Qoe + il,-_‘.,—%:."ﬂlﬂa
= X100+ 2 1yy = TYY



Solubon-0% .
Liasl price of am pzticle = FTgoo.

Lek the n,mc:uﬂ{ of discount be F

~ : ice.
As Hhe Shopkeeper Sells the article of the List Pric

yle profit of € shopkeeper = I% .

D e Vol odded by the ghopkee per = 34
Ac the shop keePe” Pays a VAT 0f T g ond &

poke OF Eales Lotz 7.5t

4.5, of %= T 4.

E==
=) w= E0°
. -‘-1’5
= y I o

_palte of discount 13@“5_{}0“00\)“ - Lo

Solukion -09,
Maﬁu*Fﬂf{u?ﬁ""-‘r Compans P selle a pesest cooler to

o dECLlE"' A for F g, l00. Tnclwsiye o p oo

iy the cost prvice of b¥ cooler for deales A=

otal  Amount paid - Sales Ta.

Let the ampunt Paid L the n

<ales tar - S %%
L&)

Amoand pPoaid by dealev A= o 4 81
) . . loa

ARt 912

25 TS



2 Punclod €
Tat = L
=5
-  @loo = 211
DL
= oqa= 26 xsloo
a1
=  a= 25%8le0
27
= A = 1.500

Lt} The ameunt of 4ax

=4 of VAT

A coct by dealer A fincluding

Teceive d Ly e Sovernmeal -2

ﬁealtr R ce\le 1D ConSumevy =3 Asoo+ 2600

= I 4,w00.

e awourt of  tar receved Ly iy
élWErhmEnl‘ = 8 ¢ 29 loo
= 2
mﬂi"i,lﬂ?
= F1asg .

{1y The dedledr A Sells

Penley g gelle to

Tat poid by comnsumey

ConSum &Y

i

I

W ko a dealg B for 38,5001

Sale bar
= ‘a%,ﬁﬂ)ﬁ’l x EFESU‘:‘
=1
= 2 9,1%0.

= ®H2,500+ I Goo
= 39,100

B of 29 0o

=3
Too* 3400

R 73%.



e amounk Whith Theé onsumey fays He

Th
cevleY= Fq 100 +T12g

= % 9,8 2%.

Solubon-10:-
pwice of om Avticle = ¥ 5,000,

Mﬂ_’fkéd
mﬂlggmrg cost psice of An Asticle = F 5,000 -
g 2s
oa - 1o

= E- Gibﬂ]-?.lfis"ﬂ
= F 3,F50.

= 3 50
Luﬂ‘:{ 2

AT Padd -ln_g. the wholesaler
' 4o Manufackues

b Wal=]

= Fsoco-F 15 500,
oo

getarler cost Price of An Axukcle

= ¥s,000- T Es0

= Fy,250.
VAT Paid by bhe Rekailer =3
o Lohalenls 3 oo ¥ 4,250
= T AY=2S
=3 32%0.
e : & )
CoensSumeY ~aat Price - 2 5,000 as vweloiley Seli

to cersumey otk maveed Price .

VAT Poad -Lk.ﬂ the consumeyr = 53 ¥ S,000
oo

= J400 .
L'i_j UHT ‘E_E.C'E--'IUE‘:L From -U"rg l-«:‘l"-nnlt‘.‘:‘-q.ler 't'D -&IQV‘EY e
= Z324y0-Faso
L = 2 go.
Liny VAT Yecewed by Govey weeny  from retadler = LHOO-TI4
—_—



e amounk Wwhich The tonsumev Poys Y

rﬂ_\
Fq,l00 + T34

CDDH_E-T_-:
= 42 9,8 28.

SolubFean-1o -
Moxked Price 0f an pvlicle = ¥ 5,000,
wholesadel 'S cost pzice of An Astice = Fs,000 -

3 25
LDG‘L 51000

= g 5000- 2 1 250

= F 2150,
VAT Paid by the wholesaler - & . 3350
4o penufocbes 1O
= FZad

= ?Eiﬂ'nu_fﬁﬂ‘lm{:
L=t

getailer cost PEice of An Amkcle

Fs,000- THso
= qFYy,250.

VAT Paid by Ehe Rekailer
= R

= T RAY2-S

25,000 os vetodley Sells

CANSUreeY = aad Peice -

to coersumEr al mMmavkeed Price

NaT pPaad Ly e
e consumer = 3 Q@
1ED§|{'—E~.;DGG

= § Gpo«
= T 400

Gy VAT veceved frvom 4. LOnDles el g p +o .Eq
OVET T @ nd

= 340 -F 200

) . = -'%_ qg-
Ly VAT we cewed 1‘.‘.‘!fj CT[QUE; e g Luoro, e basler = T YHO00- Eﬁ'q_u
, = Féo .




Solukion-1i-
Licted Price of Joods = Fiso .

cost Price of goods to Wholesealer -

Listed Price -23s4. discount

Tok Pald by Whol€saler £o0 Moy fackuver - 2o .,
——— 20
loo

(" Sales Lo on the goods o)

=32 .
0S¥t Pyice of Be Goeds to setailey

= Listed Price — 20 f. ddscount

= F 60D - I 20
LDﬂ‘ilén

= ‘é 16&'-331
= F e

Taa paid by vataller to usnolesaler - Rio
_i;_rf; Y2 il2e

= F12-Bops .
Cest Price of He consSumey = | cted Price - S7 dicmns

= Sleo - F

—

< oI5
= s

Tak Pad by consume vy = o
Tea X Tds:

= XL VS.2p pe.



iy The VAT paid by te wholesaler =

2 '2.%0 PS5~ T 12.00
= Fo.20Ps.

MYy Tve vaT F‘Cu:d Ly tie ﬁf—{'ﬂ_!;.lET = VAT poud by co
S UFnéy _

VAT Paid by yetrailer ta
Whalegal,,

T R NVS20-F13. 80
= .40
gy VAT YeceWed by e Jover N me nr
= T2 4 Fo. 564+ ®2.90

= T \S.20y4

Solubion=12.-
FPurchased Pyice of an Avkicle = 3 =Yoo

co PTLC"E of . v
5‘!: an Afticle -4 3‘£ch ﬂr?ﬁng %
I. Yo

Let 4 ke the cos b Frice
e Hhern by .
Paad - 2O
—

Purchased Price = cosbt parice +Tar Pajd

) Ar O.2

]

25,400

= 2% = F S 4o

= M= TSYoa

| R -
= =Y, S00.

cost Pryice of n b icle = £4,580.



LEL the marsled Price

Aven thak 107
50 maxked Price =

Y = 4,500+ Y

1o

= -

= ley-yY

Lo

— Lt,r';DD‘

= MY = Ygooo

4'_‘.!'
= :j = ﬁ;{}ﬂﬂ

oF an

Arbicle be Yy

sebaty on the mavked price

= o5t P'ElTEE + 10 o-F :b"

Marked Psice of an Aviicle - 3 S,c00

5:::!u.tic:m—l3;~

Cost fricé

S Moviced Price obf awn fpoticle-= T R.ocob 4+ Fop

to ShoPkeepev = 319,000,

— ¥ 12,000
loo

= 2120004 T S Sx%12g

= 212,000 4 T 2,000

= ¥ \g,000.

e shof \<eePer G\v&B 10 discounte to Maxked

Price = TS, 000 - J v

Jo :
'kmgii 3,00

E ‘EJGDG_ { S0

- iiEJS‘Dﬂ ,



Funthe oS- Sealap discouht S on Pemaining

= ?ngISGE’_-'I_S: I
.roui 3500

= 3 13,500 T(0.5%12 5
- T 12,500~ 3 g3s

= 2 18,838¢g.

() The amount oFf tar customer “hose to P ew

= ¥ &

-_—

o F 12 .8 2%
= 2ozt

(Y e Final
Price he as o Pﬂ—ij fo Ay Ay licle

1
a4

1Z2,2=l.



Solukion - 1y
Pu. rcha.am[ Goods worth Ks 9,60.000

Total Paid tai on punchased goodt F 62,750

I

ocods Tarable g4 00,000 -
& of 4, ES RO, Con
iF=1-

= FE6xgoop

= ?;?..Etc:mm

Groode Torableé (2.5 of 4,280,006 = T 9.5+ of 420
» s D00

= I3 &p
e o A Lff%ﬂ,q.aﬂ

= I 1.5« Y g00
= %E-U,Dag

Exemplted Goods worth I 95,640

Tax Liabilty (under vAT) for tis Per/gy

= .qota) Input fa+ Tokal oukput tanx

=
'S

Total inpuk faa = JF 62,750
+total Ouwpul tex = Foay 000 tF o000
- 3 gy,00.

o tan Liabkhly = Fey.ooo0- F 62,750

F 2, 250

il
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Solukion-15]-
calculation of input tat:

Toaw Rate purchases InPur Eodles, o
FlooY TTIEE 1.5 ) &8,00,008 TeS.of B, 00,000 = £~ 000
Zarnbory  Fittings Gor) 1,590,000 \O/. p+,50,000:= 'S,c00

Tota Tnpur Tax = 135,000,

Colculation a4 cubput tor.

Tat Rate Purchaseg Inpuk tares
Floox “iles (1-5) B.4o,060 T.87.of [ye,000: €3, 000
Saribory Fitkings (10w %, 20,000 lor. of q,20000° 92,000
|
Tokal oowkpPuk TaL = &5, 000 _

Coleculokion of Adjustment pukpuk tox.

Tat Rak Retuxn Adjust me nd oukpuk Tas

e

Floov Tiley --s57/ &0 .60 Asoe

To+al adjusimed  odurpuw e o 4, Too-

©om Liability (undery val) of %e fism during tae

coid toi perica

Total 1nput tox - Adjustment ouiub tox - Total Tnpud
fau

L1

X 1.864000 - TY,500 - 31,35, 000

i

%:ED:&UEJ %HJSG-{!

I '8.500 .
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